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1. S R{E - Hi_Range (‘WJHEAL) = 20mA IFHYY3E = -
2. EERES(KIAME © Lo_Range (P7HER(r) = 4mA BFHYPIHE -
3. {HEHESEEME - X (YHEAL) -
4. {FEREEIMEER =1 (MA) -
5. Span = Hi_Range - Lo_Range (%/3HEfr) »
6. Zero=Lo Range (¥/HEfr ) -
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(1-4)/(20-4) (mA)= (X-Zero) /Span (¥ Efr) -
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1. I(mA)=[ (X-Zero) /Span]*16+4 (mA)-
2. fi4n -
l. e[ H A H E E E Fy 2~7%Cs
. {HEHESEE = 4.5%Cs -
.  &HEERER [45-2)/(7-2)]*(20-4)+4=12mA -
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1. X (‘P& fr) =[ (1-4) / (20-4) ]* Span + Zero (YJHHEEAL ) -
2. fign -
l. RS HEHER HEE R E fy 2~7 %Cs o
. EHER =12mA -
M. {EEAESsEEmER [ (12-4)/(20-4) 1% (7 - 2) +2=4.5%Cs °
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